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Answer the following questions
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Which Article of the Indian Constitution

isrelated to free and co i
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education? pulsory primasy
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In which year was Education included
in Concurrent List in India?

(c) SCERT 5o oicht R 2
What is the full form of SCERT?
(d) Sefs @M e By *{6 Reem ad= w1
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In which year was the National Open
» School set up in India?
(e) ‘wi®m mwﬁmﬁwﬁ’% @f%zn‘ .
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When was the ‘National Aduit
Programme’ constituted?
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Il Write short notes on :
| (@) v SR SEREIE wer
|~ ‘Slgnificance  of = equalization ' of
i educational opportunity '
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Sarva Siksha Abhiyan (SSA)
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Objectives of technical education

(d) “RET FER deEIwe!

Need of environmental education
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. 6+7=13
Mention some problems of women
education in India. Give some suggestions
to solve these problems.

PR TP R B I8 T wwe
oreie YRR Sowd SF e SEm ¥4 5+8=13
Write about the aims of higher education.
Discuss the objectives and mission of

National Assessment and Accreditation
Council (NAAC).
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What is correspondence course? W’»}'
about the . advantages and disad_v,antagg
of correspondence course., ' |
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What is meant by open university? wil
elaborately the merits ang demerits |
open education. - - ]
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erence between
and evaluation? Write

continuous ang comprehensiye evaluation.
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